204,40
N 24 13' 30"

N 47 ,O I_4II
41,18
N &2 32' 00" W
.
-,é
50'-5" 54'-4" \ 20'-0"
OuJELL

" dEPTIE

NEW SINGLE STORY RESIDENCE

eol-2ll

CONCRETE DRIVEWAY

WISE ESTATES BLOCK C LOT 2i
©.58 ACRES

45'-0'

19.7

184.20
6 31 4bl ]5“ LU

S 58 42' 50" W

SW MELBA GLEN




25 GA. MIN EXTERIOR SKIN 16 GA. GALV. RES. TOP ROLLER BRACKET

LAG BOLTS PER BRACKET

w/ G-40 GALVANIZATION ~ ATTACHED W/ (2) 5/16” x 1-3/4"

ADJUSTABLE SLIDE BRACKET ATTACHED

TEST PRESSURES WERE +48,4 PSF AND —54.7 PSF. BY COMPARISION, EIGHT (8) WINDOWS WAY BE

||_ 2 _I\\E 1/4 x1/2 BT & NUTPER BRACKET ) AZING OPTION CROSS SECTION

TEST No. SBC—580—011 ON OCTOBER 12, 1995 INCLUDED GLASS WINDOWS IN THE DOOR BEING USED. THE

MIN. 3/32" THICK SSB GLASS

— INSTALLED IN (1) ONE SECTION OF THE 18' X 7' AND 18' X B MODEL 600 AND 950 DOORS.
10 pBI" DearaFrame WINDOW FRAME
T WTH UV PROTECTION PTIONAL Dscra INSERTS
»_mlu ey /u WITH UV PROTECTION
8 he° 3* x 20 GA, STRUTS \ \
10° (2 PER SECTION ATTACHED WITH
2 1/4° x 3/4° HEX HEAD UNIV. SCREWS
_m = AT ALL CENTER STILES. ATTACHED WITH
‘o by ek B
AND x
o o b .-_ﬂl__-__l_______l_______I___ = VIWE. 1 — TRy
e ]| T i ', == 10°  7'¢
e e ) -
m T =l e e S T 0 48 x 3/ SECTION B-B_
8 e _I__l__-__l_______l_______l_______- e AN HEAD SCREWS
hulal!lulllllhnrl}h“npn,ill_: ——— = e — AT EACH WINDOW FRAME
10° h.u. " 10° T
ﬁ ¥ M B | =N . ¥ - 14 GA. GALV. STEEL
9y B . 9 mo_._.mx HINGE ATTACHED
(N BN 111 (|| 1) | N S S - X S__} x 3/4"
" e e e g e ey e ey : EAD SCREWS AND
’ ’ mhmnwom_.#a_uw_mw_.\mmm HINGE
57-1/4° 25 u\m.||_l|mm-u\m Lllmmnw\m.ll_llmm-u\m. ST~/ >
18°0° LAG BOLTS
lL—  SECTION HEIGHT SECTION HEIGHT——
INSIDE ELEVATION
STRUT SPACING STRUT SPACING /
. 1) 5/18" x 1-3/4" /
37 x 20 ga. STRUT HEX HEAD LAG BOLT IT
(1) 1/4° x 3/4° 3" x 20 ga. STRUT (2) 1/4° x 3/4 [ s
HEX HEAD UNIV. SCREW HEX HEAD UNN. SCREWS / e
14 ga. GALV. STEEL- N BB-100 BOTTOM E
ROLLER BRACKETS (2) 5/18° x 1-3/4" : BRAKET ATTACHED
HEX HEAD LAG BOLTS W/ () 1/4" x 3/8"
° PER ROLLER BRACKET 18 ga. GALV. 0 (4) 1/4" x 3/4° xMx :m>_w SCREWS D
NYLON OR STEEL STEEL HINGE HEX HEAD AND (1) 5/16" x 1-3/4"
ROLLER W/5° STEM——| UNIV. SCREWS HEX HEAD LAG BOLTS
g ¢
o
(4) 14 X & ¥ %20 o ST = CONT. ALUN, EXTRUSION P *
HEX HEAD UNIV. SCREWS mmvxﬂ\_%u ?mlmm.m @ 18 3 e m— W/ CONT. VINYL ASTRAGAL el
X .
(1) 174" x 3/# TRIMMED 2 x 4 HEX HEAD UNN. SCREWS | SECTION_A—A (SIDE_VIEW) i
HEX HEAD UNIV. SCREW oeD BLOCK 3" x 20 ga. STRUT ¥
BEHIND ALL. END STILES . TRACK CONFIGURATION FOR 6'6" UP TO 8" TALL DOORS
HINGE CONNECTION /51
ROLLER BRACKET (TYP) /51 NTS 2/ JAMB BRACKET LOCATIONS
NTS 1/ Al B C D E _|S
6'-6"| 4° [21-1/2°| 39° 57° 707
. . . u - 7-0°] 4°le1-1/2° 1 42’ 63° 767
(1) 5/16" DIA. x 1-3/4 1-1/2" x 2-5/8" x 20-1/2
LAG BOLT ATTACHED Na JAMB mocA:mm.z ﬁRoixzzm / 00D JAMB >j.>o_._zmz.— 10 STRUCTURE 7'-6°| 47| 18’ 36° 54° 72° |82’
AT EA. JAMB BRACKET BEHIND ALL END STILES RATED FOR 100 NPH FASTEST-MILE BASIC WIND SPEEDS 8'—0°| 4° 21-1/2° 397 57° 75¢ ag’

STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

20 GA. GALV. STEEL
END STILE

2" GALV. STEEL TRACK
TRACK THICKNESS .063°

7
BOLT RETANER
(1) PER ROLLER 2 X 6 SOUTHERN YELLOW PINE
(NO. 2 OR BETTER)

TRACK _MOUNTING DETAIL

OLDED INSIDE FRAME

SPLICE TRACKS AT THIS LOCATION
W/ (4) 1/4"—20 TRACK SPLICE BOLTS & NUTS
SECURE 10 JAMB WITH (3) 5/18° DiA. x 1-3/4"

ok MAY 17 2001
ATTACHED W/ (1) 1/4"-20

TRACK mﬁ@ _Ne_.m N ch

“Towey ool

BUILDING PLANS EXAMIM

REVIEWED FOR

CODE COMPLIAN
KEEP THIS PLAN ON J

LR

CE
0B

[nspaciiua UWJax., Fl

mxm:.::m;w_m: 1y
License Mo.

VERTICAL JAMH ATTACHMENT TO W0OO FRAME STRUCTURE
5/18° X 3° LAG SCREWS STARTING 8° FROM ENDS THEN 18% Q.C.

VERTICAL JAMB ATTACHMENT TO 2,000 PSl CONCRETE
HITI KWK BOLT 3/8" X 4° STARTING 8° FROM ENDS THEN 24° O.C.

EEEE

#AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

mep mp

SPECIFICATIONS AND NOTES

1. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
2. DOOR SECTIONS SHALL BE 25 GA. {.018%) MIN. ROLL FORMED

LIGHT COMMERCIAL QUALITY, G—40 GALVANIZATION.

: . R 3, DOORS UPTO 7'0" HIGH CONSIST OF + SECTIONS AS SHOWN.
HILT! SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 8° FROM ENDS THEN 24” 0.C. 4. DOORS UPTO 8'0° HIGH CONSIST OF SECTIONS AS SHOWN,
FTW/RANSET RED HEAD 3/8" X 3" STARTING 6° FROM ENDS THEN 24° O.C. 5, SUPPORTING STRUCTURAL ELEMENTS me. BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS,
6. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE

SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 8" FROM ENDS THEN 168° O.C. WTH THE PROCEDURE DESCRIBED IN ASTM E330-90, AND THE
T_._qﬂd\.ximﬂ. ._.>>zvooz d\ﬁ b »lu\n STARTING 8° FROM ENDS, USE PAIRS OF ﬂ vwmmm._mmnm_.mnu—moﬁz #_moz e e LA nm_._mm;
FASTENERS (3° APART) AT 18° G.C. DRAWINGS WERE CALCULATED USIN

THE FOLLOWING PARAMETERS:

BASIC WIND SPEED OF 100 MPH

DOOR CAN BE INSTALLED WITH 5 FEET OF Dogm WDTH
INSIDE THE EDGE STR¥P.

15" MEAN ROOF HEGHT AT ANY SLOPE

USE FACTOR OF 1.0

EXPOSURE RATING OF C

w@am“

MODEY $600 STRATFORD
MODEL #950 HERITAGE II

SIE mWE | ME s/EM TRANNO RABER
B OEDE3 BY HE Eﬂlmglgﬂl__
nm|§ W SAE SEIF




PREMDOR (ENTERGY BRAND) DOUBLE DOOR

WITH SIDELITES

[N WOOD FRAMES

WITH BUMPER THRESHOLD (INSWING)

| 1/2° MINIMUK CHBEDMENT
(lE) P[R HEAD L SILL, (5) PCR JAMB
ALTCRNATE: 3/16° PFH TAPCONS
w/1 1/72° MINIKUR EKBEDHENT

148 /2"
HAX 37 1/4°
37 174 74° MAX
MAX ] MAX -
e wo—| |- — |5 HAX T e
e e TAP 9 . .
e X E L0 SIaE 5 | | 40 MAX—-| |-~ 9° MAX—-| |-+ J=| |=—4° MAX o o
; © 0c. ° oc. 15° OC. * OC.
1s* aC_ 15" oc _15° 0C__15° 0C__ 157 0C. 4 15" OC._ R
4 MAX MAX MAX MAX MAX
il = 7 [:] 7/16’ 4
"o x 2° Vs, Of 1ST HINGE
(3) IN [ACM INSIDE JAMB ”l——_" _
17 1/1' MaX _\ 18- oc SR /
0C. SPACING // i J o »:;»;cgu y
N BOTH SIDCS .
- | | e Py ~|;;;_r;;s_ .............. . ,!
A 10P 0OF DOOR (5) N EACH INSIDC JAMB
17 172° MAX 18° 0C. TO ¢ 0OF LOCK 22° X 64
0.C. SPACING o LD
q\ 5 1/2° —[I 80 1l/1e°
// o ! MAX
17 1/2° MAX . ‘\-cvusu DCADBOL ! /
0C. SPACING 18 OC. 08 hEarot DEAIOL T
HODCL 820
17 1/72° MAX /
0. SPACING A 4
oR Nh“LBC LOCKSC?Y /
MOOCL 100 - -
1 172° KINIKUNM [MBEDHCNT / = —
PR ) PLR JAHD B~ ,C
f«'f?cnfw"cAgﬁss'}»}n‘?nwc[u e | s Is* 0C, st oc_| s ac_| | s ac. l 15° 0.C,
»/) 172" MINIMUM CHBCDHENT Y 't B -1 MAX MAX MAX HAX MAX
[ 5 MAX— - leed loo—d4° MAX _
— — T-—s' HAX .
M Hax
172° x 2° LONG STAPLCS
SEC NOTE S5
ATTACH ASTRAGAL THROW BOLT #8 x 1° LONG
STRIKE PLATE TO THE HEADER "IN ALL REMAINING
AND THRCSHOLD WITH B0 x |} 374° HOLES
“ILATHEAD SCREWS
NOTES:
) WOOD BUCKS BY OTHERS. MUST BE ANCHORED 48 x 1 /47 LONG [\ ﬂ

ROPERLY TO TRANSFER LOADS TO THE STRUCTURC.
) THE PRECEDING DRAWINGS ARE INJENDED 10
UALIFY THE FOLLOWING INSTALLATIONS.

. WOOD FRAME CONSTRUCTION WHERE DOOR
YSTEM IS ANCHORED T0 A MINIMUM TwO BY w0OoD
PENING.

. MASONRY OR CONCRETE CONSTRUCTION WHERE
O0R SYSTEM IS ANCHORED TO A MINIMUM TwO BY
TRUCTURAL w0OOD BUCK.

FLATHCAD SCREWS

ASTRAGAL

L.H. INSWING

MASONRY OR CONCRETE CONSTRUCTION WHERE

DESIGN PRESSURE RATINGS

OOR SYSTEM IS ANCHORED DIRECTLY TO CONCRETE
R _MASONRY WITH DR WITHOUT A NON-STRUCTURAL

WHERE WATER INFILTRATION
REQUIREHENT IS NEEDED x

WHERE WATER INFILTRATION
REQUIRCMENT IS NOT NEEDED

NE BY WOOD' BUCK T X
ALL ANCHORING SCREWS T0 BE #10 WITH ysitive Tl ACERUVED > taalpst
INIMUM 1 1/2° EMBEDMENT INTD WOOD SUBSTRATE 9 -

X 3/16° PFH TAPCONS WITH | 1/2° MINIMUM EMBEDMENT

{TO MASONRY.

UNIT MUST BE INSTALLED WITH ‘MIAMI-DADE COUNTY
>PROVED® SHUTTERS

THREE STAPLES PER SIDE JAMB INTO HEADER ON SIDELITES
vD DOOR, THREE STAPLES PER JAMB INTO THRESHOLD ON
DELITES AND DOOR.

LATEX SEALANT TO BE APPLIED AT SIDE BY SIDE

\MBS AND SIDELITES.

DOOR/SIDELITE HEADER, DOOR/SIDELITE JAMBS, AND SIDELITE BASE
IRNERS ARE COPED AND BUTT JDINED.

DOORS SHALL BE PRE-PAINTED WITH A WATER-BASED EPOXY RUST
HIBITIVE PRIMER PAINT WITH A DRY FILM THICKNESS OF 0.8 TO 1.2 MIL.
FRAMES SHALL BE PRE-PAINTED WITH AN ACRYLIC LATEX WATER-BASED/

ATER-REDUCIBLE WHITE PRIMER WITH A DRY FILM THICKNESS OF 08 TD 12 MIL.

RH. INSVING

APPROVED AS COMPLYING WITH THE

DALE

SOUTH Fj?jiﬁ/\ BU%CUO]DE

BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCENO, O1-0319. 23

X UNITS SHALL BE INSTALLED ONLY AT LOCATIONS PROTECTED BY A CANOPY OR
OVERHANG SUCH THAT THE ANGLE BETWEEN THE EDGE OF CANOPY OR OVERHANG
T0 SILL IS LESS THAN 45 DEGREES. UNLESS UNIT IS INSTALLED IN

NON-HABITABLE AREAS WHERE THE UNIT AND THE AREA ARE DESIGNED TO
ACCEPT WATER INFILTRATION.

'4!%/11/00

c DADE COUNTY MODIFICATIONS Jo
LINITS: UNLESS MOICD, rRAC 0C. NG B__ADDED PAGE S (DOOR QPTIONS) 10-1-98 | RS
CXIRUSIONS (ALCSS NOTED, 10, CONL LS, A | ADD OTHCR DOOR CONFIGURATIDNS 12787 | RS |
ENGINEFR: LIR. REVISIDNS DAIE | Y

PART MAN[: cwicesy o€1a (DGO BOURE DOOR w/sioCLITES )
R 8y RS. [BIL 7-29-977 HAT'L: [SCAL NTS. ™
gﬁ[xmrpﬂﬂnﬁ ENTRY SYSTEMS 31-1029-EM-1
PIITSBRG, XS 64162 SHEET | 0OF 6

ROVISIN LCHTER C




e .
; ES S
INTERIOR
37 1/4 . -
MAX = 747 MAX
3s 3s4° _ e
35 3/4° ) @ MAX =
MAX 35 3/4° _ 35 3/4°
MAX - o MAX °?

® ®
ve |

—
@
@

- A R R S A T «_ﬂ , ..m._ -
| o SRR SN L -
o g Y

), EXTERIOR
SEC TN A-A —® g

=
INSWING OTHER CONFIGURATIONS 7 170

SEE GLAZING DETAIL

_ m 1/e - “/ " 14
MAX MAX
GLAZING DETAIL _ . o

SHERWIN WILLIAMS B8S0A @
EXTCRIOR GRADE LATEX CAULK

Ve Sk

e 294
2.| YA

z/«.

SENEEER A\

EXTERIOR _
. — } 74 3/4 e’
PR — 1 MAX = MAX —
INTERIOR @ A 3 Wl N oSS RN m, g I
YT
1/7e” - - X0 x0
I
GLASS BITE
1/8° TEMPERED GLASS C [0ADE COUNTY MODIFICATIONS ke | 0
\.oﬂn.u_.\vb A5 CONELYING '"iTH THE B |ADDED PAGE S (DOOR DOPTIONS) o-1-98 | RS
LIRS ULESS NOICD, TRAC @ [ DD SCREVS 10 LITE FRAMES &
S0umn :.vdz d___ zmmmom {1RAIDG DLESS MR, 510 DL 10T A |ADD OTreR DODR CONTIGURATIONS fe-w-at | o2
AL ENGINFER: LT EVISDG WL | T
E PART N 1 1S _(A-A
By RN RS [RIE 7-29-97 1 MM TAL N
PRODUTT CONTACL DIVISION m@ﬁﬁm _mzzﬁ SYSTEMS 31-1029-EM-1
BUILGHNG CCOZ COVELLANCE GFF d
o »u% u\wou\mnﬂnw PUISAR. & 419 SHEET 2 OF 6
AESERIANCERG Y 2T T2 levisonunee ¢




1/4” SHIM MAX

3/4" —=
ﬁ L
1 * | m
b F
O—
80 11/16” -
MAX =
INTERIOR | —_
79 5/16" ..w
MAX -
\ @ — ..
! PN FL B

SLUTION B




